

Convertir Fahrenheit a Celsius (I)

Estime o convierta las temperaturas.

$53^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-80^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-88^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-63^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$94^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$65^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$82^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-63^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-83^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$52^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$53^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-14^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$82^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$5^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$26^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-11^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-3^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-71^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$81^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-29^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$44^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$20^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-89^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$55^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$60^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$10^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-41^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-79^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$27^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$

$-85^{\circ}\text{F} = \underline{\quad}^{\circ}\text{C}$